1 Solve 5x-6=3(x—1)

Autumn 2017 Paper 2 Q1

(Total for Question 1 is 3 marks)
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2 Solve

3x —

2_2x+5_1—x

3

6

Summer 2017 Paper 2 Q11

(Total for Question 2 is 4 marks)
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Summer 2018 Paper 3 Q7
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3 Solve =2x-17

(Total for Question 3 is 3 marks)
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2
Autumn 2019 Paper 3 Q10

9+ x

4 (a) Solve =11-x

X S L
3
(b) Simplify %
""""""""""""""" a

(Total for Question 4 is 4 marks)
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~\
Autumn 2017 Paper 1 Q6

Here is a rectangle.

2x+ 6 5x—9

[1 []

All measurements are in centimetres.
The area of the rectangle is 48 cm?.

Show that y =3

(Total for Question 5 is 4 marks)




